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Some people are S|tt|ng around a circular table and all
eople are facm in the same direction. X and Y are
neighbor of W. There are three people between P and
Q. R sits to the immediate rig ht of Q. S sits second to
the left of R. There are three eople S|tt|n|g between
and T. U is a neighbour of T. hree e are sitting
between U and V. W sits second to e eftof V.U is
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Some people are sitting around a circular
table and all pec;gle are facing in the
same direction. X and Y are neighbor of
W. There are three people between P
and Q. R sits to the immediate right of Q.
S sits second to the left of R. There are
three p_eogle sitting between Sand T. U
is a neighbour of T. Three people are
sitting between U and V. W sits second {o
the left of V. U is neighbour of Y. P and V
are neighbours. " _
How many people are sitting in the circle?
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Some people are sitting around a circular table and all
people are facing in the same direction. X and Y are
neighbor of W. There are three people between P and
Q. R sits to the immediate right of Q. S sits second to
the left of R. There are three people S|tt|n|g between S
and T. U is a neighbour of T. Three people are sitting
between U and V. W sits second to the left of V. U is
neighbour of Y. P and V are neighbours.

What is the position of T with respect to R?

01. Immediate left

02. Immediate right

03. Second to the left

04. Second to the right

05. Cannot be determined
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Some people are sitting around a circular table and all
people are facing in the same direction. X and Y are
neighbor of W. There are three people between P and
Q. R sits to the immediate right of Q. S sits second to
the left of R. There are three people S|tt|n|g between S
and T. U is a neighbour of T. Three people are sitting
between U and V. W sits second to the left of V. U is
neighbour of Y. P and V are neighbours._

Who among the following are the immediate
8?|q:r>1b\c/>urs of U?
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Some people are sitting around a circular table and all
people are facing in the same direction. X and Y are
neighbor of W. There are three people between P and
Q. R sits to the immediate right of Q. S sits second to
the left of R. There are three people S|tt|n|g between S
and T. U is a neighbour of T. Three people are sitting
between U and V. W sits second to the left of V. U is
neighbour of Y. P and V are neighbours.
Four of the following five are alike in a certain way
based on the given arrangement and hence form'a
group;?Whlch IS the one that doesn’t belong to that
roup”
1. PW
02. QT
03. UT
04. RU
05. YV
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Some people are sitting around a circular table and all
people are facing in the same direction. X and Y are
neighbor of W. There are three people between P and
Q. R sits to the immediate right of Q. S sits second to
the left of R. There are three people S|tt|n|g between S
and T. U is a neighbour of T. Three people are sitting
between U and V. W sits second to the left of V. U is
neighbour of Y. P and V are neighbours.

What may be the position of S with respect to Q?

01. Immediate left

02. Immediate right

03. Second to the |eft

04. Fourth to the right

05. Third to the right
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Eight persons - A, B, C, D, E, F, G and H were born in
different months of January to August of the same year
but not necessarily in the same order. Not more than
one person is born in a month. G was born in a month
that has 31 days but not in the month of May. There is a
gap of one month between G and A. A born some
where after G. B was born in the month which has the
Ieast number of days. E was born immediately after C.

Number of persons born before E is one more than the
number of erson born after E. F born before D. There
IS a o months between A and H
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Eight persons - A, B, C,D, E, F, G and H were born in
different months of January to August of the same year
but not necessarily in the same order. Not more than
one person is born in a month. G was born in a month
that has 31 days but not in the month of May. There is a
gap of one month between G and A. A born some
where after G. B was born in the month which has the
least number of days. E was born immediately after C.
Number of persons born before E is one more than the
number of person born after E. F born before D. There
is a gap of two months between A and H.

How many persons born before C??

One
Two
Three
Four
No one

O1RWN—-
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Eight persons - A, B, C,D, E, F, G and H were born in
different months of January to August of the same year
but not necessarily in the same order. Not more than
one person is born in a month. G was born in a month
that has 31 days but not in the month of May. There is a
gap of one month between G and A. A born some
where after G. B was born in the month which has the
least number of days. E was born immediately after C.
Number of persons born before E is one more than the
number of person born after E. F born before D. There
is a gap of two months between A and H.

Who born in the month of January?
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Eight persons - A, B, C,D, E, F, G and H were born in
different months of January to August of the same year
but not necessarily in the same order. Not more than
one person is born in a month. G was born in a month
that has 31 days but not in the month of May. There is a
gap of one month between G and A. A born some
where after G. B was born in the month which has the
least number of days. E was born immediately after C.
Number of persons born before E is one more than the
number of person born after E. F born before D. There
is a gap of two months between A and H. _
Which of the following persons born in the month which
has 30 days?
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Eight persons - A, B, C,D, E, F, G and H were born in
different months of January to August of the same year
but not necessarily in the same order. Not more than
one person is born in a month. G was born in a month
that has 31 days but not in the month of May. There is a
gap of one month between G and A. A born some
where after G. B was born in the month which has the
least number of days. E was born immediately after C.
Number of persons born before E is one more than the
number of person born after E. F born before D. There
is a gap of two months between A and H.

Who born immediately after F?

OIRWN—=
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Eight persons - A, B, C,D, E, F, G and H were born in
different months of January to August of the same year
but not necessarily in the same order. Not more than
one person is born in a month. G was born in a month
that has 31 days but not in the month of May. There is a
gap of one month between G and A. A born some
where after G. B was born in the month which has the
least number of days. E was born immediately after C.
Number of persons born before E is one more than the
number of person born after E. F born before D. There
is a gap of two months between A and H.

Which of the following statement is true?

G was born in the month of March.
There are two persons between A and E.
E was born immediately before H.

H was born in the month of July.

None is correct.

O1RWN—-




SBI CLERK 2023 Previous Year Paper

Statements

Some apples are orange.

No oranges are fruit.

Only a few fruits are bananas.
Conclusions _

: Some apples are fruit.

Il Some fruits are bananas.

Only 1 follows

Only 2 follows
Either 1 or 2 follows
Both 1 and 2 follows
None follows

Q1R OWON—-
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Statements

oSome red are blue.

No red are black.

All black are pink.
Conclusions

. Some pink are black.
. Some red are pink.

1) Only 1 follows
2) Only 2 follows
3)Both 1 and 2 follows
4)Either 1 or 2 follows
5) Neither 1 nor 2 follows.
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Statements

No dogs are cats.
Only a few cats are wild.
All wild are animal.
Conclusions _

|. All cats are animal.
. Some cats are not animal.

1) Only 1 follows
2)Only 2 follows.
3)Both 1 and 2 follows.
4) Either 1 or 2 follows.

5)Neither 1 nor 2 follows.
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Statements

Some chairs are tables.

Only a few tables are bed.

No bed is furniture

Conclusions

: Some chairs are bed

Il Some furniture are tables

Only conclusion | follows

Only conclusion |l follows

Both conclusion | and Il follows
Either conclusion | or Il follows
Neither conclusion | nor |l follows

Q1R OWON—-
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Statements

Some mobiles are calculators

Some calculators are pens

Only a few pens are scales

Conclusions _ _ _ o
Some mobiles being pens is a possibility
Some pens are not scales

Only conclusion | follows

Only conclusion |l follows

Either conclusion | or Il follows
Neither conclusion | nor |l follows
Both conclusion | and Il follows

ORWN= =
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Eight persons - A, B, C, D, E, F, Gand H live in a
building of 4 floors and 2 flats - Flat 1 and Flat 2.Flat 1
is to the west of Flat 2 and Flat 1 of Floor 1 is
!m_medlat_eI%l below Flat 1 of Floor 2 and Flat 2 of Floor 1
iIs immediately below Flat 2 of Floor 2 and so on. There
are two floors between B and C. B lives above C and
they live in different flats. A lives west of D but on the
odd number of floor. F lives immediately above C. No
person lives west of G who lives on the fourth floor. H
does not live on floor numb%r ng{el'-l .
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Eigh_t persons-A,B,C,D, E, F, Gand H live in
a building of 4 floors and 2 flats - Flat 1 and Flat
2.Flat 1 is to the west of Flat 2 and Flat 1 of
Floor 1 is immediately below Flat 1 of Floor 2
and Flat 2 of Floor 1 is immediately below Flat
2 of Floor 2 and so on. There are two floors
between B and C. B lives above C and they live
in different flats. A lives west of D but on the
odd number of floor. F lives immediately above
C. No person lives west of G who lives on the
fourth floor. H does not live on floor number
one.

Who lives just East of F ?

1
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Eigh_t persons-A,B,C,D, E, F, Gand H live in
a building of 4 floors and 2 flats - Flat 1 and Flat
2.Flat 1 is to the west of Flat 2 and Flat 1 of
Floor 1 is immediately below Flat 1 of Floor 2
and Flat 2 of Floor 1 is immediately below Flat
2 of Floor 2 and so on. There are two floors
between B and C. B lives above C and they live
in different flats. A lives west of D but on the
odd number of floor. F lives immediately above
C. No person lives west of G who lives on the
fourth tfloor. H does not live on floor number
one.

On which Floor B lives?

1) First
Second
Third
Fourth
None

O1-RhOON




SBI CLERK 2023 Previous Year Paper

Eigh_t persons-A,B,C,D, E, F, Gand H live in
a building of 4 floors and 2 flats - Flat 1 and Flat
2.Flat 1 is to the west of Flat 2 and Flat 1 of
Floor 1 is immediately below Flat 1 of Floor 2
and Flat 2 of Floor 1 is immediately below Flat
2 of Floor 2 and so on. There are two floors
between B and C. B lives above C and they live
in different flats. A lives west of D but on the
odd number of floor. F lives immediately above
C. No person lives west of G who lives on the
fourth tfloor. H does not live on floor number
one.

Who lives just below H ?

1
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Eigh_t persons-A,B,C,D, E, F, Gand H live in
a building of 4 floors and 2 flats - Flat 1 and Flat
2.Flat 1 is to the west of Flat 2 and Flat 1 of
Floor 1 is immediately below Flat 1 of Floor 2
and Flat 2 of Floor 1 is immediately below Flat
2 of Floor 2 and so on. There are two floors
between B and C. B lives above C and they live
in different flats. A lives west of D but on the
odd number of floor. F lives immediately above
C. No person lives west of G who lives on the
fourth tfloor. H does not live on floor number

one.
Which of the following pair is correct ?

Floor-2 Flat-1-H
Floor-3 Flat-2-D
Floor-4 Flat-2 -G
Floor-1Flat-2-C
Floor-3 Flat-1-F

Q- OWON-
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Eigh_t persons-A,B,C,D, E, F, Gand H live in
a building of 4 floors and 2 flats - Flat 1 and Flat
2.Flat 1 is to the west of Flat 2 and Flat 1 of
Floor 1 is immediately below Flat 1 of Floor 2
and Flat 2 of Floor 1 is immediately below Flat
2 of Floor 2 and so on. There are two floors
between B and C. B lives above C and they live
in different flats. A lives west of D but on the
odd number of floor. F lives immediately above
C. No person lives west of G who lives on the
fourth tfloor. H does not live on floor number
one.

Which Floor Flat Combination is correct for E ?

Floor 1 Flat 2
Floor 2 Flat 1
Floor 3 Flat 2
Floor 4 Flat 1
Floor 2 Flat 2

Q- OWON-
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YXZ BAC JFG ROP GON

If each consonant is changed to the
previous letter of the given words and
vowel remains the same, then how many

wards_have more than one vowel?
T S A f%;r LY am?ar% ﬂ%@%
A Y S e

Th LY

1) One
2) Two
3) Three
4) Four
5) Five
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YXZ BAC JFG ROP GON

How many letters are in the alphabet
series between third letter of the second
word from left and second Ietter of the
se ond from the ri

1) Eight
2) Nine
3) Ten
4) Eleven
5) Twelve
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YXZ BAC JFG ROP GON

If first and second letter of the each word
Is interchange then how many words

starts with a vowel ?
TR

1) One
2) Two
3) Three
4) Four
5) Five
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YXZ BAC JFG ROP GON

If all the given words are arranged in the
alphabetical order from left to right within
the words, then which one will be fourth

from.left end ?
%ﬂqmﬁ%?ﬁ%wﬁg@ [ % Hae graa
%@T ﬁﬁ%ﬁﬂ@ﬂ? s <
1) YXZ
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YXZ BAC JFG ROP GON

If 'E' is added in the last of the each word
then how many meaningful word will form

R E

1) One
2) Three
3) Two
4
5

Four
Five
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'he is very fast' is coded as 'pa za kt pu’
‘this is computer’ is coded as 'fp pu gs'
'machine is fast' is coded as 'pu kt tq°

'l like computer' is coded as 'fp sp el'
What would be the code of 'computer’ ?

el
u
P

kt
za

PR WON -
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'he is very fast' is coded as 'pa za kt pu’
‘this is computer’ is coded as 'fp pu gs'
'machine is fast' is coded as 'pu kt tq°

'l like computer' is coded as 'fp sp el'
What is the code of 'machine'?

tq
kt
pa
pu
Can not be determined.

PR WON -
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'he is very fast' is coded as 'pa za kt pu
‘this is computer’ is coded as 'fp pu gs'
'machine is fast' is coded as 'pu kt tq°

'l like computer' is coded as 'fp sp el'
What is the code of 'he'?

pa
Za
Either 1 or 23.

kt
pu

PR WON -




SBI CLERK 2023 Previous Year Paper

'he is very fast' is coded as 'pa za kt pu
‘this is computer’ is coded as 'fp pu gs'
'machine is fast' is coded as 'pu kt tq°

'l like computer' is coded as 'fp sp el'
What is the code of 'he'?

pa
Za
Either 1 or 23.

kt
pu

PR WON -
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Twelve persons are sitting in two parallel rows _
contalnln%_sm person each in such a way that there is
an equal distance between adjacent persons. In row-1
P,Q, R, S, TandU are seated and all of them are
facing South. Inrow-2 A, B, C, D, E and F are seated
and all of them are facing North. Therefore, in the given
seating arrangement each member seated in a row
faces another member in the other row. Q sits at one of
the end of the row. One person sits between P and Q.
R sits opposite to D. A sits immediately rght of D.
Three persons sit between S and T and S does not sit
at any end of the line. U is not an immediate neighbour
of T. E sits opposite to S. C sits second to the rlfg t of B.
Either B or C sits at end of the row. P does not face B
and T does not face C. F sits second to the right of E.
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Q sits at one of the end of the row. One person sits
between P and Q. R sits opposite to D. A sits
immediately right of D. Three persons sit between S
and T and S does not sit at any end of the line. U is not
an immediate neighbour of T. E sits opposite to S. G
sits second to the right of B. Either B or C sits at end of
the row. P does not tace B and T does not face C. F
sits second to the right of E.

Who sits at end of the row?

OIRWN—=
AC>0OT
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Q sits at one of the end of the row. One person sits
between P and Q. R sits opposite to D. A sits
immediately right of D. Three persons sit between S
and T and S does not sit at any end of the line. U is not
an immediate neighbour of T. E sits opposite to S. G
sits second to the right of B. Either B or C sits at end of
the row. P does not tace B and T does not face C. F
sits second to the right of E.

Who sits second to the right of U?
@]
S

1
2
3) P
4) T
5) R
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Q sits at one of the end of the row. One person sits
between P and Q. R sits opposite to D. A sits
immediately right of D. Three persons sit between S
and T and S does not sit at any end of the line. U is not
an immediate neighbour of T. E sits opposite to S. G
sits second to the right of B. Either B or C sits at end of
the row. P does not tace B and T does not face C. F
sits second to the right of E.

Four of the five are alike in certain way and form a
group. Find the one which does not belong to the

roup?
QB
2) P
3) U
4) T
5 P
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Q sits at one of the end of the row. One person sits
between P and Q. R sits opposite to D. A sits
immediately right of D. Three persons sit between S
and T and S does not sit at any end of the line. U is not
an immediate neighbour of T. E sits opposite to S. G
sits second to the right of B. Either B or C sits at end of
the row. P does not tace B and T does not face C. F
sits second to the right of E.

Who sits immediate right of the person who faces D?

1) Q
2) U
3) P
4) T
5) S
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Q sits at one of the end of the row. One person sits
between P and Q. R sits opposite to D. A sits
immediately right of D. Three persons sit between S
and T and S does not sit at any end of the line. U is not
an immediate neighbour of T. E sits opposite to S. G
sits second to the right of B. Either B or C sits at end of
the row. P does not tace B and T does not face C. F
sits second to the right of E.

Which of the following pairs sit at end of the rows?

Q-A
T-C
A-P
Q-R
None

O1RhWN—-
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